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≥ 0.



:

[0, 1] 1 �



:

[0, 1] 1 �
(ϕj, ϕk) =

∫ 1

0

xjxkdx =
1

j + k + 1
.



:

[0, 1] 1 �
(ϕj, ϕk) =

∫ 1

0

xjxkdx =
1

j + k + 1
.

(Hilbert) MatLab hilb
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3.12 y = a sin bx

xi 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
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3.12 y = a sin bx

xi 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8

yi 0.6 1.1 1.6 1.8 2.0 1.9 1.7 1.3

ÝÞ Ä Å

fitfun
function err = fitfun(c,x,y)

a = c(1); % coefficients

b = c(2);

err = y - a * sin(b*x);

err = err’*err;



3.12 y = a sin bx

xi 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8

yi 0.6 1.1 1.6 1.8 2.0 1.9 1.7 1.3
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fminsearch
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function [err,a,b] = fit312(x,y)

if nargin<2,

x = [1:8]’/10;

y = [0.6 1.1 1.6 1.8 2.0 1.9 1.7 1.3]’;

end

c = fminsearch(@fitfun,[0;0],optimset,x,y);

fprintf(’NLS fitting y=a*sin(b*x) for data\n\n’);

fprintf(’%6.1f’,x);

fprintf(’\n’);

fprintf(’%6.1f’,y);

fprintf(’\n\n is\n\t y = ’);

fprintf(’%7.4f * sin( %7.4f * x)\n\n’,c(1),c(2));

z = linspace(x(1),x(end),100);

plot(x,y,’ro’,z,c(1)*sin(c(2)*z),’b-.’)
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=6(2x + 3y − 1) − 8(x − 4y + 9) − 2(2x − y + 1)=0
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=6(2x + 3y − 1) − 8(x − 4y + 9) − 2(2x − y + 1)=0
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x = −1, y = 20
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A = [ 2 3

1 -4

2 1 ];

b = [ 1 -9 -1 ];

c = A\b;

x = c(1); y = c(2);
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